= o
A & 0l & AF 2 E A A
AN HlsSn
HE: s B L
el SEMARS (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AU sSn 14,343,577 13,792,809 550,768
= 168,392
X 950,000
J| 1,430,520
< 985,801
Al 10,808,864
s ZdeE st 14,300,037 13,770,971 529,066
= 168,392
X 950,000
J| 1,430,520
< 985,801
Al 10,765,324
A= 2,805,660 4,888,123 A 2,082,463
J| 250,100
< 141,540
Al 2,414,020
sS4 HAIEO XA 23,480 5,800 17,680
201 £B-2dH| 23,480 3,000 20,480
01 At 22l 10,480 0 10,480
OUHDE sELE E2E =2 M
80,000& * 64 480
O=sS¢E 82 MA(HL 2 2FY )
5,000,000& = 23l 10,000
03 A2 Z Hl 13,000 3,000 10,000
OsS4&E B0ty AT A &It
3,000,000& 3,000
OSSHE EEE SMNE 1Y
1,000,000& * 102l 10,000
SMESEEM KA 150,000 100,000 50,000
307 Qiz2tol & 150,000 100,000 50,000
02 It S AHE L 150,000 100,000 50,000
Os&=ZEM XA  800&  375,0000H * 50% 150,000
st RS2 5,880 25,740 A 19,860
202 O4dl 2,880 2,700 180
01 = LH 4 Hi 2,880 2,700 180
O&dN=sS=& 0t 20,000& = 4H = 36 2,880
301 et a = 3,000 2,700 300
09 AL HI B A S 3,000 2,700 300
O’ANRE E=Jlz WSO
20,000 = 150 = 13/ 3,000
AESHE RSAE X (=) 325,400 319,050 6,350
= 65,080
Al 260,320
402 RI2EX20l A 325,400 319,050 6,350




AN HlsSn
M =0l AWM L3
2 RSHAHRS (&t
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 65,080
Al 260,320
01 A=A EX 325,400 319,050 6,350
OAEsdtE RSAE ZX  325,400,0002 325,400
< 65,080
Al 260,320
SSMSdM S RSEHSXE 800,000 800,000 0
402 RI2EX20| ™ 800,000 800,000 0
01 B2t AP E X 800,000 800,000 0
O SSUSHN L SEHH R 800,000
OEFMEAE
20,000,000& * 50002 * 50% 500,000
OsgdS8dixSEH
5,000,000& * 80CH * 50% 200,000
OstsUSIHLX A
25,000,000& = 8ha * 50% 100,000
s4tE Al 24stAatd 100,000 90,000 10,000
307 glz2tol & 100,000 90,000 10,000
04 DI2HHALALSE E X 100,000 90,000 10,000
OsNSEHN SHSAY
20,000,000& * 54 A& 100,000
FZEREE 243 A Y 443,500 190,000 253,500
203 YR =&l 1,000 0 1,000
03 AIHF=AH S =AH| 1,000 0 1,000
ozzZEt g4 XA 1,000, 000& 1,000
307 glz2+0ol & 67,500 10,000 57,500
02 QIZtE M AHEE 67,500 10,000 57,500
O4s MAEH SHU=S
30,000& = 53| » 450H 67,500
402 RI2FX=20l A 375,000 180,000 195,000
01 It 2 AL E X 375,000 180,000 195,000
Oxs SRR XA
5,000,000& = 150=Jt * 50% 375,000
SUEEEISSHAEERAH)XE 50,000 50,000 0
307 gl & 50,000 50,000 0
02 IZHEHAHE L 50,000 50,000 0
OstEsZE N2 (MEESRXHM)X &
500& = 200,00008 * 50% 50,000
s21s38 #AE6 K& 100,000 200,000 100,000
307 21201 A 100,000 200,000 100,000
02 IS AHEL 100,000 200,000 100,000
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202 S It
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OEFS =31 2A=56 K&
500& * 28 = * 200,00000 * 50% 100,000
@& APCHIEH &Hl X 175,000 175,000
402 SI2F X0l M 175,000 175,000
01 QIZI X2 AIEE X 175,000 175,000
O LLEAPCHIE HHl X 175,000
28| I A YD
250,000,000& * 1JHA = 70% 175,000
N2SSHAHA *SAMY 500,200 500,200
J| 250,100
= 50,020
Al 200,080
402 SI2F X0l & 500,200 500,200
J| 250,100
& 50,020
Al 200,080
01 QAN SAIEE =X 500,200 500,200
OM2RESHAH 2ZAY 500,200,000& 500,200
J| 250,100
= 50,020
Al 200,080
SHZC R0 HE Yl X 72,200 72,200
[ 14,440
Al 57,760
307 2Iz2t0| & 72,200 72,200
o= 14,440
Al 57,760
02 DIZHEAAIE E X 72,200 72,200
O=zZZEESRH0|l &ufdl X 72,200,000 72,200
& 14,440
Al 57,760
SHIZCAHIEFANS RSt MAX, AU S 60,000 60,000
= 12,000
Al 48,000
307 2izto| A 60,000 60,000
= 12,000
Al 48,000
02 QIZFA AAIE E X 60,000 60,000
OZEIZCAHIZSANSASM A, AH XE S X
& 60,000,000& 60,000
= 12,000
Al 48,000
HIAMALEHE HEF 3,140,641 548,899
& 18,000
Al 3,122,641
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(o
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FAMEH LT 2,076,441 1,680, 142 396,299
101 @124 dl 13,241 10,742 2,499
04 DIt 22 XREES 13,241 10,742 2,499
oXFMYM 22 U BHELO X
44,6403 = 1H « 262 ~ 10012 11,607
CPIRE S == 1,234
OB = 11,607,000& * 2.995% 348
OFIILEE= 348,000& = 6.55% 23
O=8dgd= 11,607,000& * 4.5% 523
ons=sg 11,607,000& * 1.5% 175
OtHEH 11,607,000 * 1.42% 165
OZF & F Il 200,000& = 23 = 1H 400
201 L2l 908,000 779,400 128,600
01 At 22l 908,000 779,400 128,600
OHFMYSUSCF Y L BEHM 22
2,000,000& * 3002l 600,000
OFAMYSUE MU
50,000,000& * 29H 100,000
O=EE8 I HPH F2 10,0008 * 5,000% 50,000
OHJAMHEHECFH 120,000, 000& 120,000
OFAMTSLE BHZ2ME 2 JHl XA
2,000& = 20,0004 * 70% 28,000
OBRAMYY HR2AYSY
1,000,000& * 100H & 10,000
301 4= 640,000 650,000 A 10,000
1M1IIEBELSS 640,000 650,000 A 10,000
OFAMPH HAHsIH ASEXHXA
400,000 * 1,600ha 640,000
307 gl2tol & 515,200 240,000 275,200
02 It M AHE L 515,200 240,000 275,200
OFIMIY [2ety DSEUMTTHIR
220,000& = 1,600ha * 70% 246,400
OBAMYH FAEO0I| N
240,000& = 1,600ha * 70% 268,800
HFEAMASBHE LIS 776,600 687,600 89,000
201 Let24dH] 25,000 80,000 /55,000
01 At 22/l 25,000 62,000 A 37,000
OHAMATUC SHSHE
100,000& * 100 10,000
OXIMHEME 212 FH|
5,000,000& = 30H A 15,000
202 (44l 3,600 3,600 0
01 S LHOIYI 3,600 3,600 0
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OFHRJMIOIAEE ZSEH I
20,0008 ~ 3% x 60 3,600
307 2izto| A 748,000 604,000 144,000
02 QIZIA AAIE E X 748,000 604,000 144,000
OHIAMTLUCS TR A
27,000,000& * 2882 * 50% 378,000
OFHJIMHNSE MSES AL
40& * 5,000,0000H * 50% 100,000
OFJAMHEBEME NEE MAXHAH
500,000& = 1,000ha * 50% 250,000
OXERIAMNMHEME SZO|BE AL
2,000,000& = 103 20,000
HESME SA4Z OHHE MY 30,000 30,000 0
& 9,000
Al 21,000
201 B9 30,000 30,000 0
= 9,000
Al 21,000
01 AP 22| H| 30,000 30,000 0
O HB3sAE TVEAYE DHAHE
15,000,000& = 2A 30,000
o=t 9,000
Al 21,000
HEHE MY BdHES 29 18,000 14,000 4,000
& 5,400
Al 12,600
201 Bt 18,000 14,000 4,000
= 5,400
Al 12,600
01 AP 22| H| 18,000 14,000 4,000
OFEHEHH Bdes 29 18,000,000 18,000
=} 5,400
Al 12,600
EEHA 20 FIMHEHA AN IR 150,000 180,000 A 30,000
307 giztol A 150,000 180,000 A 30,000
02 QIZ2IA AAIE E X 150,000 180,000 A 30,000
OZEEHA M=20E HIMIA AKX 2
300,000,000 = 50% 150,000
LesEAMS ELANN 245 XA 77,000 0 77,000
201 LBt ]| 12,000 0 12,000
01 AP 22| H| 12,000 0 12,000
ONXIAHY 2T 2o E2(HEHZED )
1,000,000& * 12& 12,000
301 et A= 25,000 0 25,000
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X ZH -
L= B

el

= _ — d =
BB - Sl (31) - NRAY - BES e 52
11IIEtEA S 25,000 0 25,000
O=S4=d & Suisl X
2,000& = 12,500AH 25,000
307 glz2+0l & 40,000 0 40,000
05 RIZtE = 40,000 0 40,000
OFAMEALH 40,000,000 40,000
ME BEYE -2 2FH AR 12,600 0 12,600
< 3,600
Al 9,000
301 et a3z 12,600 0 12,600
< 3,600
Al 9,000
11IIEIEA S 12,600 0 12,600
Ostts 332 £ S84 X&
4,000% * 4,50021 * 70% 12,600
= 3,600
Al 9,000
A0 - SRAIYX 5,773,592 6,055,340 281,748
= 126,300
J| , 178,600
< 436,050
Al ,032,642
S J0l MAAIA 230,000 71,500 158,500
< 69,000
Al 161,000
402 RI2FXt20l ™ 230,000 71,500 158,500
< 69,000
Al 161,000
01 QIZt Xt E AL 2 230,000 71,500 158,500
© ¥&E 20 2
460,000,000& * 50% 230,000
< 69,000
Al 161,000
AESA=Z E4 200,000 82,000 118,000
= 60,000
Al 140,000
402 RIZ2EXR20l A 200,000 82,000 118,000
< 60,000
Al 140,000
01 It 2 AL B X 200,000 82,000 118,000
oxNdsEsES 5 400,000,000 * 50% 200,000
< 60,000
Al 140,000
& sIAH 3= 36,000 10,000 26,000
< 10,800
Al 25,200
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402 SI2FXHE0| & 36,000 10,000 26,000
& 10,800
Al 25,200
01 QIZEXIE2AIE 2 X 36,000 10,000 26,000
OPQlaA SIIH 22 72,000,000& * 50% 36,000
= 10,800
Al 25,200
AE20 SEHA (HIJOIEHAIAL) X 600,000 100,000 500,000
J| 240,000
Al 360,000
402 SI2vXHE0| & 600,000 100,000 500,000
J| 240,000
Al 360,000
01 QA XSAIEE =X 600,000 100,000 500,000
ONSRNSENS (HIIHAIL) X2
1,200,000,000& * 50% 600,000
J| 240,000
Al 360,000
AE20 HUHXOIS(EZAIE) 23 AIY 230,750 67,700 163,050
= 92,300
Al 138,450
402 12t X0l ™ 230,750 67,700 163,050
= 92,300
Al 138,450
01 QA SAIE E =X 230,750 67,700 163,050
ONEHUN LK 0l SESEHEAAL) AL
230,750,000 230,750
= 92,300
Al 138,450
WAl BSEESA BIAIESE X 17,500 5,000 12,500
= 5,250
Al 12,250
307 QI2t0| ™ 17,500 5,000 12,500
& 5,250
Al 12,250
02 QI2tAAMAIE E =X 17,500 5,000 12,500
O+ BIHY PANELES N
35,000,000& * 50% 17,500
=} 5,250
Al 12,250
OIM XNESAH 23 49,000 18,000 31,000
& 14,700
Al 34,300
307 gizto| & 49,000 18,000 31,000
& 14,700
Al 34,300
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02 YAFLAANFEE 49,000 18,000 31,000
ooa NEASEHM 2= 98,000,000& * 50% 49,000
< 14,700
Al 34,300
AEZ0 dUXoIS(SHES) S5 AtY 42,000 90,000 248,000
= 21,000
Al 21,000
402 RI2EXt20l 42,000 90,000 248,000
= 21,000
Al 21,000
01 22t t= AP E XL 42,000 90,000 A 48,000
OANEZN dUXOolE &3 AL (SHER)
42,000,000 42,000
= 21,000
Al 21,000
A AMHAEFTH X 20,000 3,000 17,000
< 6,000
Al 14,000
307 21201 A 20,000 3,000 17,000
< 6,000
Al 14,000
02 ItFAAHE R 20,000 3,000 17,000
Ol MHERXIHM X  40,000,000& * 50% 20,000
= 6,000
Al 14,000
b= B2 MAEH X& 175,000 77,000 98,000
< 52,500
Al 122,500
402 2I2H X201 M 175,000 77,000 98,000
< 52,500
Al 122,500
01 B2t AL E X 175,000 77,000 98,000
Ot HAZEZY MAMFH X
350,000,000& * 50% 175,000
< 52,500
Al 122,500
AMERN SEME ALY 934,000 1,250,000 A 316,000
J| 373,600
< 168,120
Al 392,280
402 QI2H X201 M 934,000 1,250,000 A 316,000
J| 373,600
< 168,120
Al 392,280
01 It 2 AL E X 934,000 1,250,000 A 316,000
OAMEJUSE ML AL 934,000, 000& 934,000
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J| 373,600
= 168, 120
Al 392,280
= DEE AL Sust 10,000 35,000 A 25,000
J| 4,000
& 1,800
Al 4,200
402 SI2FXHE0| & 10,000 35,000 A 25,000
J| 4,000
& 1,800
Al 4,200
01 QIZEXIE2AIE 2 X 10,000 35,000 A 25,000
Ol NEBE AMESUI AFY
20,000,000& * 50% 10,000
J| 4,000
& 1,800
Al 4,200
HMoH:E MAMIM(MLAE)XA 43,092 41,040 2,052
307 2iz2to| A 43,092 0 43,092
02 QIZ2IA AAIE E X 43,092 0 43,092
OZEUH = MAXM (MUK
9,000& * 11,970 * 40% 43,092
OIAMMAAIE SUHSAY 37,500 25,000 12,500
J| 15,000
= 6,750
Al 15,750
402 BI2H X201 M 37,500 25,000 12,500
J| 15,000
= 6,750
Al 15,750
01 QIZEXIEAIE 2 X 37,500 25,000 12,500
OQIMMAAILE SUSAIE
75,000,000 * 50% 37,500
J| 15,000
& 6,750
Al 15,750
A= EsH XS 150,000 363,000 A 213,000
307 2Iz2t0| & 150,000 363,000 A 213,000
02 QIZHEAAIRE E X 150,000 0 150,000
OdNE=ESH 600,000€ = 500ha * 50% 150,000
ANAESIRA MRAX A 600,000 800,000 A 200,000
402 SI2FXHE0| & 600,000 800,000 A 200,000
01 QIZEXIEAIE 2 X 600,000 800,000 A 200,000
OAlTF BIYSIRSAEX
200,000,000 * 6ha * 50% 600,000
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AM&otA SZMA X 750,000 682,000 68,000
402 RI2FX=20| M 750,000 682,000 68,000
01 It 2 AL E X 750,000 682,000 68,000
OAHTISA SF3ML XA
1,500,000,000& = 50% 750,000
HAsIHHsSd 84T 75,000 75,000 0
307 gl2tol & 75,000 75,000 0
02 IZHE M AHE L 75,000 0 75,000
OHAsI AT X2
750 * 200,000 * 50% 75,000
AMEot2A HHES X 200,000 200,000 0
402 RI2EXt20| ™ 200,000 200,000 0
01 B2t t= AP E XL 200,000 200,000 0
OAN&GI2A HHEZ X
400,000,000& = 50% 200,000
DEZNaMA EAHSH X 150,000 120,000 30,000
307 21201 A 150,000 120,000 30,000
02 QB AAHEE 150,000 0 150,000
ONSEHUA M EAXINSH XA
1,500,000& * 200ha * 50% 150,000
DSEUAMA M2 SH X2 120,000 96,000 24,000
307 glz2+ol & 120,000 96,000 24,000
02 QI2ZtE M AMHEE 120,000 0 120,000
ONSEHUAMA N=ZSH XA
1,200,000& = 200ha * 50% 120,000
BJAFHZ MM JIBtEH 683,100 292,500 390,600
J| 546,000
< 41,130
Al 95,970
402 RI2EX20| A 683,100 292,500 390,600
J| 546,000
< 41,130
Al 95,970
01 It 2 ALEE X 683,100 292,500 390,600
OUAME MAR JIgtx=4d 683,100,000 683,100
J| 546,000
= 41,130
Al 95,970
SASICTESE Aoty 32,000 0 32,000
= 13,000
Al 19,000
402 RI2HXt20l 32,000 0 32,000
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= 13,000
Al 19,000
01 A=A EX 32,000 0 32,000
OsAE ICT 858 =4tALY 32,000,000& 32,000
= 13,000
Al 19,000
MERNWHSYE EZHEM X& 200,000 0 200,000
307 21201 A 200,000 0 200,000
02 It S AHE L 200,000 0 200,000
OAE&JH ELIHEH
2,000,000& = 200ha * 50% 200,000
= SAOHHYE 2R X 80,000 0 80,000
307 21201 A 80,000 0 80,000
02 ItFAAHE X 80,000 0 80,000
Oti= RA0HAHEYE & X
800,000& = 200ha * 50% 80,000
(S 24lel) HH(EEAE) X 56,250 0 56,250
307 21201 A 56,250 0 56,250
02 HAFHAANFEE 56,250 0 56,250
Ol (S2H)LEANE MHUHXE
7,500,000& = 15ha * 50% 56,250
2HER KA 2,400 0 2,400
202 oddl 2,400 0 2,400
01 = LH o4 1l 2,400 0 2,400
CRWEXRE F&AOHl 20,0008 ~ 2% * 60 2,400
3 FHEF LAAIE X 50,000 0 50,000
402 RIZEXt20l ™ 50,000 0 50,000
01 A TtEAEEX 50,000 0 50,000
Ol=d Roll=7 X AL
10,000,000& * 10ha * 50% 50,000
IHBAE =5 XA 2,393,124 0 2,393,124
= 42,092
Xl 950,000
J| 1,820
< 390,211
Al 1,009,001
GAPRI S =0t ot& A 2 Al XI& 30,240 0 30,240
= 21,170
< 2,717
Al 6,353
301 et a = 30,240 0 30,240
= 21,170
< 2,717
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Al 6,353
MIIEE4d3 30,240 30,240
OGAP 21E =Dt et HAtHl XI&
30,240,000& 30,240
= 21,170
< 2,717
Al 6,353
Fegzael (o) 5,922 5,922
= 5,922
202 044l 5,922 5,922
= 5,922
01 = LH o4 1l 5,922 5,922
(OFSE S e N = 5,922,000& 5,922
= 5,922
HDZy 244 282 720 720
301 e A3z 720 720
1B 2 a3 720 720
OYDYULAY BELY
20,000% = 3% » 3 = 43 720
M sitEe =227 95,340 95,340
< 19,068
Al 76,272
307 2I2+0 & 95,340 95,340
< 19,068
Al 76,272
02 QB AAFEX 95,340 95,340
Ot sttEx=E=FHINE 95,340,000& 95,340
S 19,068
Al 76,272
stEFsHI SEAMY 147,372 147,372
< 44,212
Al 103,160
402 QI2H X201 M 147,372 147,372
< 44,212
Al 103,160
01 It =2 AL E X 147,372 147,372
OsxttE2x=5HisY 147,372,000 147,372
< 44,212
Al 103,160
RPC HOH Xt= OIRtE & 66,000 66,000
< 19,800
Al 46,200
301 et d = 66,000 66,000
< 19,800
Al 46,200
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MIIEtEd = 66,000 0 66,000

ORPC B Y Xt= OIHEH

66,000,000

H

Al

66,000

19,800
46,200

H

Al

15,380

4,614
10,766

15,380

Al

15,380

4,614
10,766

15,380

02

SV DAL 15,380,000&

= M

15,380
15,380

4,614
10,766

15,380

kJ
Ot
A

= W

30,000
15,000
7,500
7,500

30,000

307

= N H

30,000
15,000
7,500
7,500

30,000

02

50,000,000& = 60%

= M W

30,000

30,000
15,000
7,500
7,500

30,000

in

Al

1,900,000

950,000
285,000
665,000

1,900,000

307

o

N
S
I

X

H

Al

700,000

350,000
105,000
245,000

700,000

02

(]
S
oY
0
=
e
H

[
r

B~ B

©
o
H
]
oy
:>-£

700,000,000

Xl

= M

700,000

700,000

350,000
105,000
245,000

700,000

402

o
N

Q2 X=01A

Xl

= M

—_

,200,000

600,000
180,000
420,000

1,200,000

01

=]
S
-
ra
>
Q
HT
P

1,200,000

1,200,000
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OE=XNHAHAIMNAZHAH SHEAMY
1,200,000,000& 1,200,000
N 600,000
& 180,000
Al 420,000
ANE dEx= 22 2 28 X 3,650 0 3,650
J| 1,820
& 550
Al 1,280
307 2iztol A 3,650 0 3,650
J| 1,820
& 550
Al 1,280
02 QIZ2IA AAIE E X 3,650 0 3,650
oXs s+ 282 ¢ &2 & 3,650,000 3,650
Jl 1,820
= 550
Al 1,280
SHNE 2422 (GAP) 21 X 30,000 0 30,000
201 et 9| 10,000 0 10,000
01 AR 22l ] 10,000 0 10,000
OsMES24LHL(GAP)EEES HZE
500& = 20,0000H 10,000
301 et A= 20,000 0 20,000
11 JIEtE & =2 20,000 0 20,000
OsHaER422(GAP)IZ= XA
200,000& * 100 20,000
SAMS SUHEAZHAN WFAES B4 2,000 0 2,000
207 A0 | 2,000 0 2,000
03 Al A 32| 2,000 0 2,000
OsALFHAL MF AMlE B4
10,000& = 200A 2,000
A2 SAE JIZ2AIAE X2 25,000 0 25,000
402 SI2FXHE20| & 25,000 0 25,000
01 QIZEXIEAIE 2 X 25,000 0 25,000
OARIsMEIZ2ALE A
10,000,000 = 5J0HA = 50% 25,000
NEWEL MIFEHE 4 18,000 0 18,000
307 2Iz2t0| A 18,000 0 18,000
02 DI AAIRE E X 18,000 0 18,000
(OESPNE- =31 3,000,000 = 128 * 50% 18,000
=W AEEAIS EHOF A AL 10,000 0 10,000
& 3,000
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Al 7,000
301 et A= 10,000 0 10,000
& 3,000
Al 7,000
09 HAIAHI BEAZ 10,000 0 10,000
O=2 ASHEASG EIF XNSAS
20,000,000& * 50% 10,000
= 3,000
Al 7,000
LI)sAE U SHH%NMNE SHXNE 13,500 0 13,500
= 3,750
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